Appendix







Abbreviations for Products Available in
Canada

Active Immunizing Agents

Vaccines Abbreviations
Bacillus Calmette-Guérin BCG

Cholera - Oral Chol-O
Cholera - E.coli - Oral Chol-Ecol-O
Diphtheria, Tetanus, Acellular Pertussis - pediatric DTaP

Diphtheria, Tetanus, Acellular Pertussis, Inactivated =~ DTaP-IPV
Polio - pediatric

Diphtheria, Tetanus, Acellular Pertussis, Inactivated =~ DTaP-IPV-Hib
Polio, Haemophilus influenzae type b - pediatric

Diphtheria, Tetanus, Acellular Pertussis, Inactivated =~ DTaP-IPV-Hib-HB
Polio, Haemophilus influenzae type b, Hepatitis B

- pediatric

Diphtheria, Tetanus, Acellular Pertussis, Inactivated =~ DTaP-IPV-HB
Polio, Hepatitis B - pediatric

Diphtheria, Tetanus, Acellular Pertussis, Haemophilus  DTaP-Hib
influenzae type b - pediatric

Diphtheria, Tetanus, Polio - pediatric DT-IPV
Hepatitis A HA
Hepatitis A and B HAHB
Hepatitis A and Typhoid - Injection HA-Typh-I
Hepatitis B HB
Hepatitis B - Thimerosal free HBTmf
Haemophilus influenzae type b Hib
Influenza Inf
Inactivated Polio IPV
Japanese Encephalitis JE
Meningococcal - Conjugate Men-C
Meningococcal - Polysaccharide Men-P-AC
Men-P-ACWY
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Active Immunizing Agents (continued)

Measles, Mumps, Rubella MMR
Measles, Rubella MR
Pneumococcal-Conjugate - valent Pneu-C-7
Pneumococcal-Polysaccharide - valent Pneu-P-23
Rabies Rab
Tetanus T
Tetanus, Diphtheria - adult Td
Tetanus, Diphtheria, Acellular Pertussis - adult Tdap
Tetanus, Diphtheria, Inactivated Polio - adult Td-1PV
Tickborne Encephalitis TBE
Typhoid - Injection Typh-I
Typhoid - Oral Typh-O
Varicella Var
Yellow Fever YF

Passive Immunizing Agents

Agents Abbreviations
Botulism Antitoxin BAtx
Diphtheria Antitoxin DAtx

Immune Globulin Ig

Hepatitis B Immunoglobulin HBIg

Rabies Immunoglobulin Rablg
Respiratory Syncytial Virus Immunoglobulin RSVIg

Tetanus Immunoglobulin TIg

Varicella Immunoglobulin Varlg
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